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1. Introduction

This is the summary for the CB: # 96bis_NB-IoT_enh:
CB: # 96bis_NB-IoT_enh
-  Seems consensus for opt2: common solution for 4G and 5G, and we believe it has less impact to CN?

- some preference for new IE?

- check details

(HW)

Summary of offline disc R3-201223
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2. Discussion
2.1 RAN3 Preference

During the online discussion, it was stated by companies that both options are feasible from RAN3 point of view, and majority companies prefer SA2 Option 2, based on separate UE specific DRX for NB-IoT and WB-EUTRA:

· Option 1: Huawei

· Option 2: VDF, ZTE, QCOM, Nokia, E///
Option 2 enables common solution for both 4G and 5G and seem to enable support alignment between UE/eNB/MME.

Option 1 avoids the introduction of NAS negotiation of UE specific DRX in EPS, but still requires MME upgrade.

2.1 RAN3 Impacts
About RAN3 impacts to support UE specific DRX for NB-IoT, there are two options:

Solution 1: reuse/extend the existing Paging DRX IE in PAGING message in NGAP and S1AP

Solution 2: introduce a new NB-IoT Paging DRX IE in PAGING message in NGAP and S1AP

Note that the detailed value range is up to RAN2/CT1 discussion.

Please companies provide your view on these two solutions.

	Company
	Comments

	Huawei
	For both S1AP and NGAP, If the values (32, 64, 128, 256) can satisfy the requirements, prefer to reuse the existing Paging DRX IE, if not, slightly prefer to introduce a new NB-IoT Paging DRX IE in PAGING message.

	Ericsson
	I think it is too early to decide at this stage if a new IE is needed in S1-AP. Prefer to postpone this discussion to next meeting, after RAN2/CT1 discussion. Option 2 is preferrable.

	ZTE
	Solution 2: For both S1AP and NGAP, also, we suggest to use the values (32, 64, 128, 256, 512, and 1024) which is aligned to the value in SIB.

	nokia
	Solution 2 seems better, as said online.

	
	

	
	


3. Summary and conclusions 
About SA2 option 1 and option 2, inform SA2 that both option 1 and option 2 are feasible and have same potential RAN3 specification impact. 
A majority of companies in RAN3 (6 vs 1) prefers option2.
About detailed RAN3 impacts, further discussion is needed in next meeting based on the progress of other groups.
